Easter Addition

Solve the following word problems.

In one nest, there are 2 fluffy chicks. In another
nest, there are 5 chicks. How many chicks are there
in total?

Emily painted 5 Easter eggs. Her brother painted 2
more. How many Easter eggs did they paint in
total?

Jacob has 6 Easter candies. His friend gave him 3
more. How many Easter candies does Jacob have
now?

In an Easter egg hunt, Sophie found 4 eggs and
her sister found 6 eggs. How many eggs did they
find in total?

Oliver bought 2 Easter bunnies and 7 Easter eggs.
How many items did Oliver buy in total?

In an Easter party, 4 children were wearing bunny
ears and 4 children were wearing chick costumes.
How many children were in costumes?

Emma has 3 Easter baskets. She bought 6 more.
How many Easter baskets does Emma have now?

Lucas found 5 Easter candies in the garden. His
sister gave him 2 more. How many Easter candies
does Lucas have now?
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